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Review &f‘a)

Preview

7-78. Possible responses include: Right triangle: right angle, Pythagorean Theorem for side lengths;
Equilateral Triangle: all sides and angles same measure; Rectangle: all right angles, opposite sides
equal; Parallelogram: opposite sides parallel and equal, opposite angles equal; Kite: adjacent sides
equal; Trapezoid: one pair of parallel lines; Square: all right angles, all sides equal; Rhombus: all
sides equal, opposite angles equal.

7-79. Yes, the triangles are congruent by SAS =. The left triangle may be mapped onto the right
triangle with a translation up and to the right.

7-80. See below:
a. 10 units

b. (-1, 4)
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¢. 5 units; it must be half of 4B because C is the midpoint of 4B .
7-81. See below:
a. The two equations should have the same slope and y-intercept.

b. When solving a system of equations that has an infinite number of solutions, the equations
combine to create an equality, that is always true as 3 = 3. This is the result when the two lines
coincide, creating infinite points of intersection.

7-82. Let x = number of months; 2v + 75 =3 + 130; 11 months; Yes it does.
7-83. See below:

a. There is a strong positive linear association between the high temperatures on consecutive days
in Mitchell’s area. The random scatter in the residual plot confirms the appropriatencss of
using a linear model. An increase of one degree on any day is expected to increase the
temperature the following day by 0.85°F. 86% of the variation in tomorrow’s high temperature
is explained by a linear relationship with today’s high temperature. There are no apparent
outliers.
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b. The largest residual value is about 17°F and it belongs to the day after the 69.8°F day.
c. 13.17 + 0.85(55) = 60.0°F

d. The upper bound is given by y = 30.17 + 0.85x, and the lower bound is given
by y=-3.83 + 0.85x. Mitchell predicts tomorrow’s temperature will fall between 42.9°F and
76.9°F. Despite the strong relationship between the variables, Mitchell’s model is not very
useful.




